7 BEAHOXBEHELERNREVEHY (505 F 2 AREE)
(1) kiR

X4 HEHHK EEE [CEE
SHSHE | SM4FE | R | SHSE | SM4E | EEHE | $H5F | fM4FE | BEEH
G 23 28 5 1 1 2 28 7
B R 167 162 5 2 3 = 176 173 3
M = 2 19 7 1 = 2 19 9
5 216 209 7 3 5 ) 228 220 8
B 30 a0 =y 32 50 16
w| & 29 67 18 1 2 3 56 69 13
I 9 9 i i 8 9 3
E 88 117 29 2 2 ) 9 128 30
= 7 304 326 =7, 5 9 2 326 348 7,
O REOEHII. BREOEHDOM2. EREL TS,
(2) ERRHZ IR A F & KR
=3 wHE
X% EE EEE EE EEE
SHSE | SHA4FE | SHSE | SHA4FE | SHSFE | SH4FE | SHS5FE | SH4E
S £ & 216 209 3 5 88 17 2 2
== = 29 26 22 18
e D) fo 82 78 3 20 32 i 1
= e 5K 104 3 ) 50 i 1
%X E & W & 33 2 13 13
% — 5 7 6 2 3 2 i 1
B & = 65 77 i 7 30 50 2
O ERBRAIOREHERIE. BEMELZTEZEATEZLRELTVWS,
(3) EHUERAIFHAERR
=3 wHE
X% EE EEE EE EEE
SHSE | SHA4E | SHSE | SHA4FE | SHSFE | SH4FE | SHS5F | SH4E
S £ & 216 209 3 5 88 17 2 2
xf 5 m 5 3 5 2
)ﬁ; i b S 13 7 1 1 1 17 1
alz D) ) 8 7 1 8
B 26 17 i 1 17 27 1
B & F x HE M 46 38 14 15
T @ & = 9 6 1 2 1
& ES 47 53 18 27 1
B & o @ 45 46 2 21 19 1
E A i B " 16 8 9
E|E i B 8 13 2 4
z ) ) 20 13 5 12
e 140 147 3 56 72 i 1
5 m B W’ 4 7 2 1 i 3 i 2
5 &

O E=HEHMDORLEHARKE. BHEITEMHEENCERER. RETEMHEOHEVEEANS(RELTVS,

(4) SEFRFEERR

=] &
X 45 LEEH & LEEH EEH
SHSE | SH4E | SN E | SHL4E | $HEFE | SH4E | SH5F | M4 E
ES 428 411 3 5 175 231 2 4
# 7 1
F |/ 3 S 5 4 1 1
1 | eh Ea S 2 5 1
N £t 7 10 1 2
= % 3 10 6 4 6
= & & 51 37 28 33 1
[55+F 540 - 35 23 22 25 1
= # & 137 90 3 5 36 49 2
[5B5+F 540 - 109 73 1 2 27 35 1
Z D) fth 223 268 106 141 2 1
X LEERI., B I LEELF2RBRDOH

O RBREFEMICHWNT,

ERENLEDHIF (32.0%) £LHHTLSD,
O HHMEHIZENT. BRENEEDH2H (20.6%) £25HTLVS,

- 11 -




